
     MAB1     Homework      due 10-29-202 
 
First, find Smallest Common Denominator (which is also Smallest 
Common Multiple in this context) and combine ratios 
C1  2*x / 21     -  x / 28    
 
 
 
 
 
C2  x / 4      -      x / 8       +     x / 12   +   x / 16     
 
 
 
 
 
G1 Area of the kitchen is 3/11 of area of the living room; that is why they 

needed 72 sq. yards less to cover the floor of the kitchen than to 
cover the floor in the living room?  What is the area of the living 
room? 

 
 
 
 
A1 On a map of a certain country 6 inches represent 200 miles. How 

many miles does one 3 feet represent? 
 
 
 
 

 
W1 
 

 



 
 
W2 

  
 
 
 
 
 
 
W3 

             
 
 

 
 
 

 
W4 
           

 
 
 

 
 

 
W5 

  



 
W6 

  
 
 
 
 
 
 
 
W7 24 yards is  X times longer than 60 inches.   How much is X? 

 
 
 
 
 
 
 
Solve equations 

E1    8*(x    -    2)     =     5*x    -   12 
 
 
 
 
 
 
 
E2    8*(x    -    2)     =     5*x    +   12 
 
 
 
 
 
 
 



E3    8*(x    +    2)     =     5*x    +   12 
 
 
 
 
 
 
E4  13*x    -    3/7     =    11*x    -   5/14 
 

 
 
 

 
 
Compute  
S1  0.015 / 0.45    =     S2  0.27 / 0.55   =   
 
 
 
 
 
 
 
S3 1.44 / 0.024  =     S4 5.1 / 0.34  =   
 
  
 
 
 
 
 
 
 
 
 
 
 



First, find Smallest Common Denominator (which is also Smallest 
Common Multiple in this context) and combine ratios 
C1  12*x / 35     -   5*x / 49    
 
 
 
 
 
C2  x / 3      -      x / 6       +     x / 9   +   x / 12     
 
 
 
 
 
G1 Area of the kitchen is 4/9 of area of the living room; that is why they 

needed 55 sq. yards less to cover the floor of the kitchen than to 
cover the floor in the living room?  What is the area of the living 
room? 

 
 
 
G2 Area of the kitchen is 5/9 of area of the living room; that is why they 

needed 56 sq. yards less to cover the floor of the kitchen than to 
cover the floor in the living room?  What is the area of the living 
room? 

 
 
 
 
 
 
Compute  
S1  0.04 / 0.24    =     S2  0.36 / 0.81   =   
 
 
 
 
 
 



S3 1.21 / 0.011  =     S4 12.1 / 0.11)  =   
 
  
 
 
Determine value of   x  
D1  24.78 * 102     =    x 
 
 
 
 
 
D2  X*  2.478    =    2,478 
 
 
 
 
 
 
D3  2.478 / x      =    2,478 
 
 
 
 
 
D4  X / 103           =    24.78     
 
 
 
D5  x * (1/5 )   -     x * (1/6)     =   1/30  
 
 
 
 
 
 
D6  x /5         -     x /6       =     1  
 
 



 

 

 

W1 How much snow will fall in 7.5 hours if it falls at a rate of 2.5 feet per 
15 minutes? 

 
 
 
 
 
W2      A jar is filled up to 11/14 of its capacity. Then Jesse adds 18 more  

gallons to the jar. The jar now is filled up. What is the capacity of the 
jar?  
 

 
 
 

 
W3 How much time (in seconds) is saved for 3 miles if we go with the  

speed 80 mph instead of 60 mph? 
   
 

 
 

 Compute using the most efficient way (no calculator) 
 M1  0.125 * 16     =      (1/8) * 16   =   16 / 8   =    2 
 
 
 

M2  (225 / 49)  *  (21 / 125) 
 
 
 
 
M3  (74 / 625)  *  (225 / 111) 
 
 



 
 
 
M4  (3/4)  *  (4/5)   * (5/6)  * (6/7) * (8/9) 
 
  
 
  


